

Termumformungen - Beispiele:

<http://realmath.de/Neues/Klasse8/summenterme/termumformung.html>

<http://realmath.de/Neues/Klasse8/summenterme/termumformung001.html>

1. $14y - 9y + 12y - 6y = \underline{\hspace{2cm}}$
2. $23x - 15x - 5x = \underline{\hspace{2cm}}$
3. $-8a - 17a + 12a = \underline{\hspace{2cm}}$
4. $-4a - 20a + 9a - 12a = \underline{\hspace{2cm}}$
5. $6x + 5 - 5x + 7 = \underline{\hspace{2cm}}$
6. $24a - 12 + 15a + 5 = \underline{\hspace{2cm}}$
7. $9x + 5 - 18x + 16 = \underline{\hspace{2cm}}$
8. $22y + 2 - 10y - 8 = \underline{\hspace{2cm}}$

Ergänze den fehlenden Term!

<http://realmath.de/Neues/Klasse8/summenterme/termergaenzen.html>

1. $\underline{\hspace{2cm}} + 2a + 13a = 30a$
2. $\underline{\hspace{2cm}} - 4y + 12y - 6y = 11y$
3. $\underline{\hspace{2cm}} - 9a + 11a + 9a = 27a$
4. $\underline{\hspace{2cm}} - 10x + 3x - 20x = -34x$

Weitere Beispiele – Nicht unterschätzen!

<http://realmath.de/Neues/Klasse8/summenterme/termumformung03.html>

1. $13a^2 + a^2 + 11a = \underline{\hspace{2cm}}$
2. $8x + x - 10x^2 = \underline{\hspace{2cm}}$
3. $9y^2 - 15y^2 + 12y = \underline{\hspace{2cm}}$
4. $6a + 13a + 4a^2 + 7a^2 = \underline{\hspace{2cm}}$
5. $6x + 5b - x + 2b = \underline{\hspace{2cm}}$
6. $4y^2 - 11y^2 - 12y - 8y = \underline{\hspace{2cm}}$
7. $2x + 5a - 10x + 3a = \underline{\hspace{2cm}}$
8. $22x + 2y - 3y + 8x = \underline{\hspace{2cm}}$

Ergänze den fehlenden Term – Profiversion!

<http://realmath.de/Neues/Klasse8/summenterme/termergaenzen5.html>

1. $\underline{\hspace{2cm}} - 11a - 5a^2 = -23a - 5a^2$
2. $\underline{\hspace{2cm}} + 12y - 3y^2 + y^2 = 8y - 2y^2$
3. $\underline{\hspace{2cm}} + 5b - 12b^2 + b^2 = 3b - 11b^2$
4. $\underline{\hspace{2cm}} + 7a^2 + 12a - \underline{\hspace{2cm}} = 20a^2 + 5a$
5. $\underline{\hspace{2cm}} - 2b - 12b^2 + \underline{\hspace{2cm}} = 5b + 2b^2$
6. $\underline{\hspace{2cm}} + 13y - 15y^2 + 7y^2 = 6y \underline{\hspace{2cm}}$
7. $\underline{\hspace{2cm}} + 2x - 5x^2 + 7x^2 = 6x \underline{\hspace{2cm}}$
8. $\underline{\hspace{2cm}} - 3b^2 + 12b \underline{\hspace{2cm}} = -22b^2 + 22b$